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cpu_time_diff : beam.smp - 10.2.1.61
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Disk Read (kB/s) : 10.2.1.63

19.53K =

14.65K =
Q)
m
=
©
@
&" buildinfo.version
5 —— 2.0.0-1782-rel-enterprise
O 9.77K=
|
I
3
[%2]
Q

Disk read across all hard drives (kB/s)
4.88K =
O= [ trieen A

U ] ]
0 5000 10000 15000

1] _>
time (sec) reb—1-2.loop / 2.0.0-1782-rel-enterprise / 2.0.0-1782-rel-enterprise / 01 Oct 2012



Disk Write (kB/s) : 10.2.1.63
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reb-1-2.conf

# rebalance mixed 7M load, 1M hot reload, 3M access creates
# speed limit = 3k

#

performance.eperf.EPerfClient.test_eperf_rebalance

params:

# general

batch=50
kind=nonjson
mem_quota=20000

# load phase
hot_init_items=1000000
items=7000000

# access phase

# Read:Insert:Update:Delete Ratio = 50:4:40:6.
ratio_sets=0.5
ratio_misses=0.05
ratio_creates=0.08
ratio_deletes=0.13
ratio_hot=0.05
ratio_hot_gets=0.99
ratio_hot_sets=0.99
ratio_expirations=0.03
max_creates=6000000

# rebalance
rebalance_after=1500000
num_nodes_after=3
reb_max_retries=5

# control (defaults: pytests/performance/perf_defaults.py)
load_wait_until_drained=1

loop_wait_until_drained=0

mcsoda_heartbeat=3

mcsoda_max_ops_sec=300

tear_down=1

tear_down_proxy=1

tear_down_bucket=0

tear_down_cluster=1

tear_down_on_setup=0



terra.ini

[global]
username:root
password:.couchbase
port:8091
data_path:/data2
index_path:/data

[servers]

1:10.2.1.61
2:10.2.1.58
3:10.2.1.63
4:10.2.1.64

[clients]
1:10.2.1.59

[membase]
rest_username:Administrator
rest_password:password

[dashboard]
1.dashboard.hqg.couchbase.com:80



